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g, nanee(P) = —0.0597 x (log ,, (P) )’ —0.0835 x (log ,, (P))* —1.258 x log ,, (P) +2.672
FEMS_TOT 8: X FEANui A Ti={1,2, ... M}, FZIREFLEE6 2 7 & B
31 77 22 IN RIS 18] 5 51 Scioi(KTs) o
F HMS_TOT_9:xf TAEAN UG s 51 = {1, 2, ... M}, IFEABIE RBUN [0 FF 51 Cui(KTs), LA
X 5 AWK 3 s AT 38 i«
800100 x Q[SCi, (KT,)])

Sci, (KT,) >0

CXi (kTs) = aEnhance(loo XQ[SCiOi (kTs)]) i (42)
! Sci, (KT,) <0
Horh, QUEEARBAMAFLES. 129 E 3 FFAEITU-R P.LOS7HEB AL A H L -
# JMS_TOT_10: 41 C, (KT,) <1 5100 xQ|Sciy, (KT,)|>45, IC, (KT,)=1 )

FHEMS_TOT 11: X TR A Ti= {1, 2, ... M}, HIEITU-R P.6ISEW T “itH
A0 A7 K558 I 52 DAL AR TR ) BE RN BB G TIHE . T VR S I AR HE Z osio

FEMS_TOT 12: MHFRADIAHSi= (1,2, ... M}, % N mMS_TOT 34
(1 v 8] 5 5% 3k FE Gwvi (KT s) 5 480 9 - 4320 B 18] /72 B Zi(KTs) -

Zi (kTS):Gam_l{Q(GWVi (KT, )),10,?—30‘} (44)

Horb, M#GamA2ITU-R P.1057 & WA L2 i B #bh 78 RAR L e, & XN

(45)

EE: QG (KT,))=ex HA”;W(H)] }

¥ BMS_TOT 13: X THEAu S Si = (1, 2, ... M}, 3% T 23t 5 I8 SR I A 78 )
Sci (KT, ) :

Sci, (KT, ) = Sciy, (KT,)xC , (KT,)x Z, (KT,)x| A, (KT) |2 A (KT,)>1 (46)
sci, (KT,)xC, (KT,)xZ, (KT,) A, (KT,)<1
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FHEMS_TOT_14: XHFREEADUE ST = {1, 2, ... M}, #% F2HEXHRE S45 1 18] 5 5
Arori(KTs):

ATO‘I’i (kTs ) = ARi (kTs )+ ACi (kTs )+ A\/i (kTs )+ AOi + SCii (kTs) (47)

B3
PPV B A b PR TSR A B TR 51 AR

IR TT IR R T B A AR S RN (8] P 8o BREATELEE 57T A 4R A A B A
R A W RS 18] B 5 B VA AT A T A, (HECR T AR
FALT Hu X 2 B A%
PB4 B T ) R G T 2 A B 25 0 A
T B2 1) B R TS FBL A, 1ITU-R P.530 % 4045 R ITU-R B RIS 3 3 000 7 ¥ 1 A
P23 b 25 A 3EAT R4 Bk
T 1 T 2 0 00 7 9 TN (14 2 A E 23 O o R M R I P A 2 P S0k,
A, IS IE) P 81 R 325 R B SR DRI TR PP 5, SR oK, o L T R 5 K o W
R[N LI N05> DL
WFETEA GHz ~40 GHzZ [H]. BAF K T2 T oK~60T Kz AR, I& A - i i B8 44 f i
(8] Fp 8 & BT VR R
N T A B T 542 b B o B N SRR (R PP 3], BERRAT 285,12 I AT 2B B, (HEEH]
P A BAES. 1.2 I ABL.

A Mg~ O'R‘*EPRE{J@%

SR mp Ml or A A EAS T HO B RO SRk AR A RE o AT AR b S i o B B R
WA B, s EE AT, AT A ITU-R P.530%E 3 A f B W9 2 9 000 7 v 11 B3 P T
RS EAR -

XTI I BB AR AR, SR R IR PR R AR R T 1 B R S Dl AT BOE S 5

FIRSS RA_1': R AN S 0 € B8 AT BRI PR RSP (IR E 20 b, i
AT BCHCR R AT, T WL FEITU-R P.83TEE I e 40t OV T ER Py, .

B IESS RA 2°: WESEFERPI] Pr, Aril, HH, Pi (BFRIE 4 H0) S8t B 208
Ari (dB)IIMEZR , Pi< Pro Piff) HLARME N5 FERATHT S IMER G R, (H2, iU 8] A 2 L
0.01%. 0.02%. 0.03%. 0.05%. 0.1%. 0.2%. 0.3%. 0.5%. 1%. 2%. 3%. 5%H110%, [§
1] 254 & Pi < Pro
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3 SS RA_3": S HNEA[Pil Pr, ARi]%T@%{Ql(g} In ARJ ,

Soofr, QERBCAERL2h5E X, JFAEITU-R PLOSTAEI Tt e
5 SS_RA 4: ATLLEIH I A, —o. Q‘l[g—‘jerR CFAT ) BT b TR &K

BB mp Mllor. Ht/N ZIRAUA T LU ITU-R P.1057 @4 I« FIXTEOER*h 78 27
o AL AUAN 78 AR AT I 73 B RE Y R BT 2 AR 5E
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